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Q-1 Select an appropriate option. 10
1. is a step by step approach to solve any problem.
(a) Process  (b) Programming Language (c) Algorithm  (d) Compiler
2 What is the standard decision symbol for a flowchart?
(a) circle (b) lozenge (c) diamond (d) square
3. The process of walking through a program’s logic using symbols on paper
before you actually write the program is called )
(a) desk checking (b) flowcharting  (c) pseudo coding (d) testing
4. Do-while loop is also known as loop. : ‘
(a) Entry level (b) Exit level (c) (a) & (b) (d) None of these
5. . loop execute at least once.
(a) while loop (b) do...while (c) for (d) None of these
6. statement skips the remaining statement of the loop and control
transfer to the condition.
(a) break (b) continue (c)if (d) switch
7. function is used to rea'ding the string. :
(a) scanf() (b) printf() (c) strrev() (d) strlen()
8. Ampersand (&) is not required when read the ' value.
(a) int (b) float (c) string (d) all of above
g. Which of the following defines 2 pointer variable to an integer? |
(a) int &ptr; ~ (b) int *ptr; “(c) int **ptr; (d) int &&ptr;
10. Which of the following is the correct way of declaring a float pointer?
(a) float ptr -~ (b) float *ptr (c) *float ptr (d) None of these
Q-2 Fillin the blanks / True or False. | 08
1. The translator program used in assembly language is called
2. is a pictorial representation of an algorithm.
3. in Array subscript can begin with number
4. A group of character is known as
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strepy () function works like assignment operator. (True / False)

strrev() function is use for reverse the string. (True / False)

Pointers to pointers is a term used to describe Pointers whose contents are
the address of another pointer, (True / False)

const int *ptr; means You cannot change the value pointed by ptr.

(True / False)

Answer the following questions. (Attempt any TEN) 20

What is an Editor? Write characteristics of an Editors.
Draw the Basic Structure of C program.

Explain printf(} statement in brief.

Explain break statement with example.

Explain continue statement in C.

What is string? List out the operation perform on the stnng
What is {ibrary function? Give one example of library fmcuon
Write the advantages of function.

List out any two mathematical functions.

Explain malloc() in brief.

What is the use of free()?

Explain calloc() in brief.

Answer the following questions. (Attempt any FOUR) 32

What is an algorithm? Write advantages and disadvantages of an algorithm.
What is Flowchart? Explain Rules to draw flowchart. Also explain symbols
used to draw flowchart.

Explain if..else & nested if statement with syntax and example.

Explain while and for loop with syntax and example. '

Explain following functions with syntax and example.

(i) strlen() (i) streat() (i) strepy() (iv) strrev()

Define function? Explain type of function used in ¢ with example. And also
explain formal parameter and actual parameter with example.

Define pointer variable. How can we declare and initialize pointer variable?
How can we access value of variable through pointer type variable?

Write advantages of using pointers. Which points are to be remember while
using pointer?
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Q-1 Select an appropriate option. 10

1

10.

Q-2 Fill in the blanks / True or False.

1.

) Ul AHAN GRadl HIZ A udg GRLUAG e 8.

(a) Wlsl (b) WAL [HOL elml (o) ¥l R (d) STUIESER
selu1d 12 uHirlep (Aol udls 9 87
(a) adn (b) Do (c) €RL (d) AR™
i) wdui2 W12 cull d u@dl 1210 Uretl udl5lell Gualol 5303 Wateil
g1 el ulsals s&qMi 4119 8.
(@) S ABAL (o) I ES (c) WS\ 51301 (d) ulaial
Do-while gu U il ueL iloani 1A B. |
(@udrdz  (b) “eR Asll iz () (a) ¥l (b)  (d) u el 518 ol
w1691 AL V1S dud qu A[E»sge 53 9.
(a) while loop (b) do...while (c) for (d) wy1Hiel] 516wl
22iloz quell oii§letl Refed ISl 8 ua Se9l2leiMi se2ld 2leusR
9.
(a) break (b) continue (c)if (d) switch
§59le] QOEHION cl{Udl HI2 U 8.
(a) scanf() (b) printf() (c) strrev() (d) strien()
A e qiudl dud WRAS (&) g3 olell, ,
(&) int (b) float () string (d) GURAscl MM

ARetiniell 53 Wleeer uaa yails 1i2 il 52 &7
(a) int &ptr; (b) int *ptr; (c) int **pfr; (d) int &&ptr;

Aol s sdle Wlpee R s3ciell wl Ad B7?
(a) float ptr (b) float *ptr (c) *float ptr (d) 24Hiel} 816 A&l
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Qo] et qutdl efdles Yl 34 53] w1d 8.
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2) W el [Ruue] RALHS pld 8.

Array Hut[Rsteul «luR of] 91 el 2% O,

A group of character el d3 poua i 211d 8,

stropy () §5lel N2 18elilez U2+l P 51 53 8. AR/ Vlg)

strrev() $52letell GUAL R2IAA R s2cll Hid i 8. (LR / WLE)

g2l 2 Wleeer 3 lgeerls] aglet sal HI2 AUl 206 B el AHA 240
YlEe22e] ARty B, QUL / VL)

const int *ptr; 2128 & i ptr g1 LRI e aledl] 215t el @1/ WlE)

Answer the following questions. (Attempt any TEN) 20

Editor 2] 87 Editor «{l [AQNd 1) guil.

C VL3LtHs] Horedd Uiy €121,

printf() WeHse S5Ui UM,

Break 22202 G618l A& Y.

Continue @2H+2 Aue1dl.

Féal g §7 Ral ur 53all 201uRlels] ALE] Wil
library 521+l 2] 7 library §5%1et ¢ 215 Gelel UL
§591e1 il 1AL Uil ‘

SlguLl Q ALBIAs §521et ofl L] elelid,
malloc()el d&HUL YHondl.

10 ol Gulal g B?

A8 calloc() UMl

Answer the following questions. (Attempt any FOUR} | 32

el R g B? el Reinstt slael et AE1ULE U,

sAluld 9f B? sAIUIE Elallell () Huondl. gelUie €lRal HI2 duRldi Ucilsl
Y yuondl,

if else & nested... if a2 A5y vl Gele L Uldl AHxdl.

While % For €U (o254 219} Gete8t 418 uHedl.

f1Aell s52lel A ALSARAAL A GeleL U8 AHAdl.

(i) strien() (i) streat() (iii) strepy() (iv) strrev()

S50l ciuAlld 52072 C Hi auidd fsletol USIR Gelsl A1) UMl
WA Gereel uid Slaue ol v wsya Npile ust uHendl.
Wgezz AN 0E vl fid 53, wud N AR Sl ld 8 v
uisel 53 2507 Weeer 219y AR g1 241Ul ARAoaH] dey 3d] 2ld
A5 53 aslal? '
Wgez2el] UL S2ctell S1U6L dul), Dipeaell GUaL sl duid sl Hgluil
le vl BISA?
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